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APTLEXEOBRER L MG CRET 3 B00E

S DAt L O RXES T OB EEAORXDFALRHORR
01 FEFi& O(146) 2.900m |O(1) 500M [O(29) 2,500M |O@41) 2,500/
02 RA#H=RE O(58) 2,0000 |O®G) 500 [(O07) 2,501 |O23) 2, 500M
03 BlEx O(60) 2,0000 |O®G) 500M [OQ22) 2,501 |O(20) 2, 500M
04 EHHRIE O(8) 2,0000 |O®) 500m [O@7) 2,500M |O24) 2, 500M
05 E{EHEE O@132) 2,600m |O(®) 500M |O(66) 2,500m |OI(6) 500M
06 AEHFMIEE |O@1) 2,000 |O@ 500M |O®12) 2,5000 [O(6) 500
21 EABE O(386) 7,700 |O(10) 500M [O(73) 2,500Mm |O(60) 2,500/
22 MABIEEIE O(381) 7,600m |O(25) 500M [O(60) 2,500Mm |O(44) 2,500
23 A O(329) 6,500m |O(14) 500M [O(40) 2,500Mm |O(69) 2,500
24 EHRBIE O(98) 2,000 |O 500Mm |O((21) 2,500m |O(®) 500M
25 HEBE O(118) 2,300m |O@) 500m (O(16) 2,500 |O(16) 2,500MH
26 HRAHEBIA O(19) 2,300 |O®G) 500M [(O(1) 2,500m |O(78) 2,500M

s OIEMFATORENARETT,
(OB FIIRBEZECHRERCTSEETT, HRIFICZOZEL T,
- 2R FALT, 38F X 3217, MSTT v 7, 12pointhEAXRTT,

[ 5 EHA DM FEDKE]
MBFETIMRERT 2 & 2D EIE. LELOSRIER600MZME L 2T,

1 FEINAE LEXE HErE105E  #Ble = $55F2,900M + #ER600M =3,500 (Fral &)
B2 FENAE LEXE B+ EAFEEIM+ERELR + mEE1M] 2RBEIXDHE
4 = #552.900M + £/H2,0009 + EF2,000M + Fg22,000 + %£600M = 9,500 (FtiA )



